## A NOTE ON LIE NILPOTENT GROUP RINGS

## R.K. SHARMA AND VIKAS BIST

Let KG be the group algebra of a group G over a field K of characteristic p > 0. It is proved that the following statements are equivalent: KG is Lie nilpotent of class  $\leq p$ , KG is strongly Lie nilpotent of class  $\leq p$  and G' is a central subgroup of order p. Also, if G is nilpotent and G' is of order  $p^n$  then KG is strongly Lie nilpotent of class  $\leq p^n$  and both  $U(KG)/\zeta(U(KG))$  and U(KG)' are of exponent  $p^n$ . Here U(KG) is the group of units of KG. As an application it is shown that for all  $n \leq p+1$ ,  $\gamma_n(\mathcal{L}(KG)) = 0$  if and only if  $\gamma_n(KG) = 0$ .

Let KG be the group algebra of a group G over a field K of characteristic p > 0and  $\mathcal{L}(KG)$  be its associated Lie ring with Lie product defined by [x, y] = xy - yx for all  $x, y \in KG$ .

The Lie lower central chain of KG is defined by  $\gamma_1(\mathcal{L}(KG)) = \mathcal{L}(KG)$ ;  $\gamma_{n+1}(\mathcal{L}(KG)) = [\gamma_n(\mathcal{L}(KG)), \mathcal{L}(KG)]$  for  $n \ge 1$ . The strong Lie lower central chain is defined by  $\gamma_1(KG) = KG$ ;  $\gamma_{n+1}(KG) = [\gamma_n(KG), KG]KG$  for  $n \ge 1$ .

KG is said to be Lie nilpotent (strongly Lie nilpotent) of class n if n is the least positive integer such that  $\gamma_{n+1}(\mathcal{L}(KG)) = 0$  ( $\gamma_{n+1}(KG) = 0$ ).

The main results in this note are the following two theorems.

**THEOREM A.** Let K be a field of characteristic p > 0 and let G be a non-abelian group. Then the following statements are equivalent:

- (1)  $\gamma_{p+1}(KG) = 0;$
- (2)  $\gamma_{p+1}(\mathcal{L}(KG)) = 0;$
- (3) G' is a central subgroup of order p.

**THEOREM B.** Let K be a field of characteristic p > 0 and let G be a nilpotent group such that  $|G'| = p^n$ ,  $n \ge 1$ . Then

- (1)  $\gamma_{p^n+1}(KG) = 0$
- (2) U(KG) is a nilpotent group of class at most  $p^n$ ,  $U(KG)^{p^n} \subseteq \zeta(U(KG))$ , (the centre of U(KG)), and U(KG)' is of exponent  $p^n$ .

Received 21 June 1991

Copyright Clearance Centre, Inc. Serial-fee code: 0004-9729/92 \$A2.00+0.00.

Theorem A and [4] together answer Problem 33 [3, p.231] for  $n \leq p+1$  (see Corollary 3).

We start with the following:

**LEMMA 1.** Let  $g \in \zeta(G)$  be such that  $\gamma_n(KG) \subseteq (g-1)KG$ . Then

- (1)  $\gamma_{n+r}(KG) \subseteq (g-1)\gamma_{r+1}(KG)$  for  $r \ge 0$ .
- (2)  $\gamma_{n+m(n-1)}(KG) \subseteq (g-1)^{m+1}KG$  for  $m \ge 0$ .

**PROOF:** (1) is by induction on r.

Suppose  $\gamma_{n+1}(KG) \subseteq (g-1)\gamma_{i+1}(KG)$ , for all  $0 < i \leq r-1$ . Then

$$\begin{split} \gamma_{n+r}(KG) &= [\gamma_{n+r-1}(KG), KG]KG\\ &\subseteq [(g-1)\gamma_r(KG), KG]KG, \text{ by the induction hypothesis}\\ &\subseteq (g-1)[\gamma_r(KG), KG]KG \text{ since } g \in \zeta(G)\\ &= (g-1)\gamma_{r+1}(KG). \end{split}$$

(2) is by induction on m.

Suppose  $\gamma_{n+j(n-1)}(KG) \subseteq (g-1)^{j+1}KG$ , for all  $0 < j \leq m-1$ . Now

$$\gamma_{n+m(n-1)}(KG) = \gamma_{n+(m-1)(n-1)+n-1}(KG)$$
  
 $\subseteq (g-1)\gamma_{n+(m-1)(n-1)}(KG), \text{ by (1)}$   
 $\subseteq (g-1)(g-1)^m KG, \text{ by the induction hypothesis}$   
 $= (g-1)^{m+1} KG, \text{ as desired.}$ 

PROOF OF THEOREM A: (1) implies (2) is always true, since  $\gamma_n(\mathcal{L}(KG)) \subseteq \gamma_n(KG)$  for all  $n \ge 1$ .

(2) implies (3). Suppose that  $\gamma_{p+1}(\mathcal{L}(KG)) = 0$ . Then by [3, Theorem V.4.4], G is nilpotent and G' is a finite p-group. Also, by [1],

$$\gamma_{p+1}(G) - 1 \subseteq \gamma_{p+1}(\mathcal{L}(KG))KG = 0$$

and hence  $\gamma_{p+1}(G) = 1$ .

Let  $m_i$  be the number of generators for  $\gamma_i(G)/\gamma_{i+1}(G)$ . Then  $m_2 < p/(p-1)$  if  $p \ge 3$  [2, Theorem 3] and  $m_2 < 2$  if p = 2 [2, Theorem 2].

Clearly  $m_2 = 0$  or 1. If  $m_2 = 0$ , then  $\gamma_2(G) = \gamma_3(G)$  and so G is abelian, a contradiction. Hence  $m_2 = 1$ , for all p, and  $\gamma_2(G)/\gamma_3(G)$  is a non-trivial cyclic group.

Further for any  $x, y \in G$ , by [2, Lemma 4(a)],

$$(x, y)^{p} - 1 = ((x, y) - 1)^{p} \in \gamma_{p+1}(\mathcal{L}(KG))KG = 0.$$

Thus,  $(x, y)^p = 1$  for all  $x, y \in G$ , so  $\gamma_2(G)/\gamma_3(G)$  is a cyclic group of order p.

Now, if p = 2, then  $\gamma_{p+1}(\mathcal{L}(KG)) = \gamma_3(\mathcal{L}(KG)) = 0$  and thus  $\gamma_3(G) - 1 \subseteq \gamma_3(\mathcal{L}(KG))KG = 0$  implies that  $\gamma_3(G) = 1$ . And if  $p \ge 3$ , then by [2, Theorem 3],  $m_2(p-1) + 3m_3(p-1)/2 + 2m_4(p-1) + \ldots + (c-2)m_c(p-1) < p$ , where c is the nilpotency class of G. Since  $c \ge 2$  and  $m_2 = 1$ , the above inequality is possible only if c = 2. But then  $\gamma_3(G) = 1$ . Hence  $\gamma_3(G) = 1$  and G' is a cyclic central subgroup of order p.

(3) implies (1). Let  $G' = \langle g \rangle$ , o(g) = p and  $g \in \zeta(G)$ . Then  $\gamma_2(KG) = (G'-1)KG = (g-1)KG$ . Now by Lemma 1, with n = 2 and m = p - 1,  $\gamma_{p+1}(KG) = \gamma_{2+(p-1)(2-1)}(KG) \subseteq (g-1)^p KG = 0$ . Thus,  $\gamma_{p+1}(KG) = 0$ . This proves the result.

Let G be a group and K a field of char K = p > 0 such that  $\gamma_n(\mathcal{L}(KG)) = 0$ . If  $p \ge n$ , then by [4, Theorem 3.8(i)] G must be abelian. Thus if G is non-abelian and  $p \ge n$ , then  $\gamma_n(\mathcal{L}(KG)) \ne 0$ .

The following corollary answers Problem 33, [3, p.231] for  $n \leq p+1$ .

**COROLLARY 3.** For all groups G and for all  $n \leq p+1$ ,  $\gamma_n(\mathcal{L}(KG)) = 0$  if and only if  $\gamma_n(KG) = 0$ .

**LEMMA 4.** Let K be a field of characteristic p > 0 and let G be a nilpotent group such that  $|G'| = p^n$ . Then  $I_K(G, G')^{p^n} = 0$ , where  $I_K(G, G')$  is the augmentation ideal of G' in KG.

The proof is by induction on n and the observation that  $I_K(G, G') = \gamma_2(KG)$ .

PROOF OF THEOREM B: We prove (1) by induction on n. If n = 1 then |G'| = p and, since G is nilpotent,  $G' \subseteq \zeta(G)$ . Hence, G' is a central subgroup of order p. By Theorem A,  $\gamma_{p+1}(KG) = 0$ .

If c is the nilpotency class of G, then  $\gamma_c(G)$  is central. Choose g in  $\gamma_c(G) \subseteq \zeta(G) \cap G'$  such that g has order p. Let  $N = \langle g \rangle$ . Then N is a central subgroup of G and  $|(G/N)'| = p^{n-1}$ .

Now by the induction hypothesis,  $\gamma_{p^{n-1}+1}(K(G/N)) = 0$ .

So  $\gamma_{p^{n-1}+1}(KG) \subseteq (N-1)KG = (g-1)KG$ . By Lemma 1,  $\gamma_{p^n+1}(KG) \subseteq (g-1)^p KG = 0$  as desired.

For (2), observe that

$$\gamma_{p^{n}+1}(U(KG))-1 \subseteq \gamma_{p^{n}+1}(\mathcal{L}(KG))KG \subseteq \gamma_{p^{n}+1}(KG)=0.$$

Thus, U(KG) is nilpotent of class at most  $p^n$ . Hence for any  $\alpha, \beta \in U(KG)$ , by [3, Lemma V.4.3],  $[\beta, \alpha^{p^n}] = [\beta, \alpha, \alpha, \ldots, \alpha] = 0$ . Thus  $U(KG)^{p^n} \subseteq \zeta(U(KG))$ . But  $U(K(G/G')) \cong U(KG)/1 + I_K(G, G')$ . So,  $U(KG)' \subseteq 1 + I_K(G, G')$ . The result now follows by Lemma 4.

## References

- [1] N. Gupta and F. Levin, 'On Lie ideals of a ring', J. Algebra 81 (1983), 225-231.
- F. Levin and S.K. Sehgal, 'On Lie nilpotent group rings', J. Pure Appl. Algebra 37 (1985), 33-39.
- [3] S.K. Sehgal, Topics in group rings (Marcel Dekker, New York, 1978).
- [4] R.K. Sharma and J.B. Srivastava, 'Lie ideals in group rings', J. Pure Appl. Algebra 63 (1990), 67-80.

Indian Institute of Technology Kharagpur – 721302 India Punjab University Chandigarh – 160014 India